75 B A FTE L 15

BifE B - 5 F1044E08 A 28 H SE—HYA FHhY)—H5T
IE6L | K % R OUT | IN | GR | HDCP | NET ] IEhL | K £ R OUT | IN | GR | HDCP | NET et
2h5 R CF 43 | 42 | 85| 23.9 | 61.1 |AE 3 |/ =HE 43 | 43 | 86 | 15.7 | 70.3
B | IR B 39| 40| 79 | 15.4 | 63.6 |AE 32 I #8 47 | 47 | 94 | 23.2 | 70.8
3 |HEEH IERE 44 | 42 | 86 | 21.2 | 64.8 |AE 33 |fIl BhE 40 | 40 | 80 | 9.2 | 70.8
4 |xE #HE 48 | 39 | 87 | 21.9 | 65.1 |AE 34 =% &M 43 | 43 | 86 | 15.1 | 70.9
5 BB ®mA 45 | 44 | 89 | 23.4 | 65.6 \AE 3% |FE —=% 38 | 37| 75 3.8 1 7.2
6 |#HE = 41 | 46 | 87 | 21.2 | 65.8 |AE 36 |EE FlEL 46 | 47 | 93 | 21.8 | 7.2
7 E%H =i 46 | 50 | 96 | 30.0 | 66.0 |AE 37 |Bim RS 40 | 39 | 79 1.7 1.3
8 E&F #HX 39 | 38| 77| 10.8 | 66.2 38 |R&HEIN RZ 37| 38| 75 3.6 | 7.4
9 & & 38 | 39| 77 | 10.5 | 66.5 39 | T kA 41| 39| 80 | 85| 71.5
10 |WE Z&— 38 | 43| 81 | 14.4 | 66.6 40 \#H E= 42 | 43 | 85 | 13.3 | T1.7
1 |qig EZ 43 | 41 | 84 | 17.2 | 66.8 41 |JEE A 42 | 43 | 85 | 12.8 | 72.2
12 |FEHE #X 36 | 39| 75| 8.0 67.0 42 % #&xX 45 | 43 | 88 | 15.3 | 72.7
13 |MEE =H 43 | 40 | 83 | 15.7 | 67.3 43 |ITRE BAx 45 | 42 | 87 | 14.0 | 73.0
14 BB BBE 41 | 39 | 80 | 12.7 | 67.3 44 BE K 47 | 49 | 96 | 23.0 | 73.0
15 |®RA &= 37| 37| 74| 6.5 | 671.5 45 @I BE 47 | 47 | 94 | 20.8 | 73.2
16 |HE == 44 | 46 | 90 | 22.5 | 67.5 46 |HE FA 47 | 47 | 94 | 20.7 | 73.3
17 |HAR #t 41 | 45| 86 | 17.7 | 68.3 47 |EH EE 44 | 43 | 87 | 13.6 | 73.4
18 |#E #ER 46 | 47 | 93 | 24.3 | 68.7 48 |[R BE 41 | 43 | 84 | 10.4 | 73.6
19 |E —H 45 | 46 | 91 | 22.0 | 69.0 49 1M BT 53 | 50 [103 | 29.0 | 74.0
20 |iBEO X 41 | 39 | 80 | 10.9 | 69.1 50 \F¥85 E— 46 | 49 | 95 | 20.9 | 74.1
21 |l ER 40 | 40 | 80 | 10.9 | 69.1 51 |AH AE 40 | 39 | 79 | 4.7 | 74.3
22 [EE # 43 | 42 | 85 | 15.7 | 69.3 52 =g FIRE 41 | 44 | 85 | 10.7 | 74.3
23 M fi 41 | 43 | 84 | 14.7 | 69.3 53 | &% 45 | 48 | 93 | 18.5 | 74.5
24 | = A 47 | 45| 92 | 22.5 | 69.5 54 |BE)Nl XH 53 | 49 [102 | 27.4 | 74.6
25 |mF* EIH 47 | 48 | 95 | 25.5 | 69.5 55 B WF 42 | 39 | 81 6.3 | 74.7
26 88X LR 39 | 42| 81 | 11.5 | 69.5 56 K& FH 44 | 40 | 84 | 9.2 | 74.8
21 MR =% 47 | 51 | 98 | 28.4 | 69.6 57 |EH# 2 42 | 43 | 85 | 10.1 | 74.9
28 |HX EXE 41| 37| 78| 8.0 70.0 58 | Rkt EEA 43 | 45 | 88 | 13.1 | 74.9
29 |Fi IER 46 | 40 | 86 | 15.9 | 70.1 59 |HH @ 44 | 47 | 91 | 16.1 | 74.9
30 [ &k 46 | 41 | 87 | 16.9 | 70.1 60 [1&x MKz 44 | 46 | 90 | 15.0 | 75.0
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75 B A FTE L 28

BifE B - 5 F1044E08 A 28 H SE—HYA FHhY)—H5T
IE6L | K % R OUT | IN | GR | HDCP | NET ] IEhL | K £ R OUT | IN | GR | HDCP | NET et
61 |[#2E &K 47 | 41 | 88 | 12.9 | 75.1 91 |[BR =E 43 | 53 | 96 | 16.6 | 79.4
62 #5800 &= 48 | 45 | 93 | 17.7 | 75.3 92 A% EHt 47 | 50 | 97 | 16.7 | 80.3
63 /Ml B— 42 | 47 | 89 | 13.7 | 75.3 93 |KRE = 44 | 45 | 89 8.6 | 80.4
64 |t BEX 48 | 43 | 91 | 15.6 | 75.4 94 Lt HiE 42 | 47 | 89 8.5 | 80.5
65 =& ®|Z 45 | 42 | 87 | 11.6 | 75.4 95 |tHE EFF 56 | 48 | 104 | 23.2 | 80.8
66 |&ith T 54 | 49 [103 | 27.5 | 75.5 96 =L & 50 | 48 | 98 | 16.8 | 81.2
67 |#E *Hh 49 | 45 | 94 | 18.4 | 75.6 97 |HH FA 48 | 49 | 97 | 15.3 | 81.7
68 | KM HEHE 50 | 48 | 98 | 22.4 | 75.6 98 |MHE IE— 56 | 50 | 106 | 21.1 | 84.9
69 |ME &% 52 | 45| 97 | 21.3 | 75.7 9 |KE #&F 51 | 60 [ 111 | 25.9 | 85.1
70 |#HF —H 56 | 50 | 106 | 30.0 | 76.0 100 S ## 55 | 52 | 107 | 18.6 | 88.4
T |FRE  #IAER 50 | 41 | 91 | 14.8 | 76.2
2 %% KT 43 | 48 | 91 | 14.7 | 76.3 it BE 41 | 45 | 86 AEEWEEL
73 |lig  =EH 46 | 48 | 94 | 17.5 | 76.5 hE EBx 41 | 42 | 83 AEEWEEL
74 ILiE  IE#HE 38 | 40 | 78 1.3 | 76.7 HH M 46 | 42 | 88 AEEWEEL
5 |S% KE 51 | 46 | 97 | 20.2 | 76.8 B ER 50 | 63 [ 113 AEEWEEL
76 |&5H @ 46 | 42 | 88 | 11.1 | 76.9 WHE RHExX 42 | 40 | 82 K&
77 |B® &KX 46 | 41 | 87 | 10.0 | 77.0 =% =R 47 | 45 | 92 K&
78 |/pUE EE 46 | 43 | 89 | 12.0 | 77.0 K RER e
19 |Rk BA 43 | 45| 88 | 11.0 | 77.0
80 ER == 44 | 53 | 97 | 19.9 | 77.1
81 |#F HFx 45 | 43 | 88 | 10.8 | 71.2
82 | KW =& 44 | 44 | 88 | 10.8 | 71.2
83 |[tkaK H& 42 | 43 | 85 1.7 1 71.3
84 |thE 3CF 46 | 55 | 101 | 23.4 | 71.6
85 | R 45 | 45| 90 | 12.3 | 7T1.7
86 M 1EHK 47 | 49 | 96 | 17.9 | 78.1
87 |EM % 49 | 48 | 97 | 18.4 | 78.6
88 |HH E= 45 | 47 | 92 | 13.0 | 79.0
89 |JIE FEX 55 | 44 | 99 | 19.9 | 79.1
90 EA R 48 | 55 | 103 | 23.6 | 79.4
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